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£ 5 R - KT Bifr 2 fifl 2 i
BE2J oy yiEst 847,713
853, 683 5,910
9 BT O YR I-AP2tSKEUZAE SR 141.00 5,910 833,310
& 142.00 5,910 839, 220 5,910
10 BRIy 7EHO 1-Ab2tSKE! i &R
& 3.00 4,821 14, 463
TREMIE D — MR 7, 408
2,315 -5,093
11 mskhE s — FBGER 16. 00 463 7, 408
m2 5.00 463 2,315 -5,093
BRHE - ]/E - BE 0
8,134 8,134
56 ZPEME - BE - BE 0.00 0 0
m2 1.00 8,134 8,134 8,134
BTS2 ) — b 169, 239
48, 354 -120, 885
12 HEmiTHav o ) —+F 18N-8-40BB  W/C=65% 7.00 24177 169, 239
m3 2.00 24,171 48, 354 -120, 885
MeEEavsU—+F
72, 360
13 MEavs)—+F 18N-8-40BB  W/C=65%
m3 2.00 36, 180 72, 360
e B th
2,523
14 {é#E B #O
m2 1.00 2,523 2,523
BiE LMER 0
9,169 9,169
57 Bi& LHMIEHR 0.00 0 0
m3 18.00 509. 4 9,169 9,169
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% L R - BAKTE B o = B Of & ) S
EA-EET 3,811,497
4,352, 897 541, 400
=A-EET 3,811,497
4,352, 897 541, 400
PR L — FEERQ
731, 430
15 B — FERERQ
m2 405. 00 1,806 731, 430
B»a
461,916
16 BEQ RC-40
m2 282. 00 1,638 461,916
ER
783,126
17858 50~ 150mm
m2 278. 00 2,817 783,126
&A1)
83, 755
18 A W-2)D
m3 350. 00 239.3 83, 755
TRYEER 179, 270
178, 290 -980
19 +BEEHRO 350. 00 512.2 179, 270
m3 350. 00 509. 4 178, 290 -980
=gt
55, 418
20 ZiE L
m3 242. 00 229 55, 418
B»a
70, 434
21 BE® RC-40
m2 43.00 1,638 70, 434
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% L IR - WAKTiE B = i ) i
G2
827, 632
22 SHBIRIPARSL SN
m2 83. 00 9,724 807, 092
23 RERIPAR SN
m2 2.00 10,270 20, 540
EEHaLHU—F
613, 470
24 EBaSh)—k 18N-8-40BB  W/C=65%
m3 26. 00 23,595 613, 470
e B th
5,046
25 {ifEE @
m2 2.00 2,523 5,046
fiEE 0
272, 750 272,750
58 HEHI 0.00 0 0
m3 250. 00 1,091 272, 750 272,750
A (-37) 0
86, 134 86, 134
59 T2 (1-3") @ 0.00 0 0
m3 361.00 238.6 86, 134 86, 134
TR ER 0
183, 496 183, 496
60 TRYEEMD 0.00 0 0
m3 361.00 508. 3 183, 496 183, 496
WET 2,075,183
2,421,246 346, 063
V) — MEET 1,453, 174
1,774,043 320, 869
Ba 340, 704
406, 224 65, 520
26 #E0G RC-40 208. 00 1,638 340, 704
m2 248. 00 1,638 406, 224 65, 520
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£ [} R - KT BfI = fili £ i
BIRRE - B - BE 0
24, 402 24, 402
61 BIppdlE - BRE - BE 0.00 0 0
m2 3.00 8,134 24, 402 24, 402
CEHEE 20,184
42, 891 22,707
27 H#EEHO 8.00 2,523 20,184
m2 17.00 2,523 42, 891 22,707
MHE (FEEH) 101, 296
120, 776 19, 480
28 #HE (BEeR 208. 00 487 101, 296
m2 248.00 487 120, 776 19, 480
KmEarHsy—+ 990, 990
, 179, 750 188, 760
29 KMMEaIHY— b 18N-8-40BB  W/C=65% 42.00 23,595 990, 990
m3 50. 00 23,595 , 179, 750 188, 760
a9 ) — hEELED 622, 009
647, 203 25,194
A 2,652
21, 846 25,194
30 #EE® RC-40 2.00 1,326 2,652
m2 21.00 1,326 21, 846 25,194
BRRE - RE - BE
471,772
31 REME - BRE - BE
m2 58. 00 8,134 471,772
CEHEE
2,523
32 HiEE 1@
m2 1.00 2,523 2,523
NOwkHary)—+k
145, 062
3B /hAkHarysy—+ 18N-8-40BB  W/C=65%
m3 6.00 24,171 145, 062
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_ % L IR - WAKTiE B = i oo ) S
frREx T 6,581, 464
4,566, 099 -2,015, 365
R®{T 5, 608, 440
4,006, 395 -1, 602, 045
KELDS5HBE 165, 075
170, 409 5,334
4 KE+DSHED 209. 00 762 159, 258
*® 216. 00 762 164, 592 5,334
3B XELDSHED
*® 7.00 831 5,817
IS4 RER
1,320
52 REARE LD S KERHK BI7S
t 0.50 2, 640 1,320
HIGHE RiEAA - FEIL
4, 601
53 HHREARE LD S RIEAH - FTEl
L t 0.50 9,203 4, 601
nogE
25, 000
37 nE (ERELXDOSH) BJS
t 0.50 50, 000 25, 000
&A1)
32, 544
38 A (-2)@
m 3 136. 00 239.3 32, 544
TR ER
69, 278
54 TWEEHRD
m 3 136. 00 509. 4 69, 278
KBTS 8E - [RE
878, 968
40 KRBT D58 1E - %RE
® 136. 00 6, 463 878, 968
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4 [} IR - WAKTiE B B = i £ i

R A 1,004, 355
507, 049 -497, 306

41 fERl 2,371.00 423.6 1,004, 355
m3 1,197.00 423.6 507, 049 -497, 306

TREER 1,207,787
609, 751 -598, 036

55 THEERC 2,371.00 509. 4 1,207,787
m3 1,197.00 509. 4 609, 751 -598, 036

REHL 40,181
37,036 -3,145

43 EBEHL +5cm 115. 00 349. 4 40,181
m3 106. 00 349.4 37,036 -3,145

LS 1,049, 400
689, 000 -360, 400

4 HHE (ERER) #AE5~100ke/[EFEE (BBAM) 198. 00 5,300 1,049, 400
m2 130. 00 5,300 689, 000 -360, 400

#aEL 888, 059
595, 791 -292, 268

45 #RELO BeL  +20cm 63. 00 3,597 226,611
m2 35.00 3,597 125, 895 -100, 716

46 EEHLO fEE#fFH  =20cm 124. 00 3,950 489, 800
m2 66. 00 3,950 260, 700 -229,100

47 #EEHLO JKeR - KepiEifEDs  £20cm 32 00 5, 364 171, 648
m2 39.00 5,364 209, 196 37,548

HEIRyVERE 241,872
385, 648 143,776

48 HEIn vy ERED AEJ0y o2t

1 48.00 5,039 241, 872

62 HE TR v VEEQD ANEToy s 2tR 0.00 0 0
1 16.00 8,986 143,776 143,776

RERE 973, 024
559, 704 -413,320

RBFEZRE 973, 024
559, 704 -413,320

49 ZEFEEE 1.00 973, 024 973,024
=t 1.00 559, 704 559, 704 -413,320




BERRE SHAEERESBEGSORBR)ER M B TEFE2R(EEEIE)
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FEED 52,093, 600
49, 581, 382 -2,512, 218

BET 52,093, 600
49, 581, 382 -2,512, 218

BET 52,093, 600
49, 581, 382 -2,512, 218

MHE EED) 50, 700, 000
38,727,000 -11, 973, 000

50 #MHE (FEM) B A 13, 000. 00 3,900 50, 700, 000
m3 9, 930. 00 3,900 38,727,000 -11, 973, 000

A (-37) 0
2,376, 249 2,376, 249

63 A (I-2") 0.00 0 0
m3 9, 930. 00 239.3 2,376, 249 2,376, 249

THEER 0
3,763,470 3,763, 470

64 %E’L‘i@?ﬁ&l (TEMEREIZL HE 0. 00 0 0
) m3 9, 930. 00 379 3,763,470 3,763, 470

=i 1,393, 600
2,134, 950 741, 350

51 & 13, 000. 00 107.2 1,393, 600
m3 0. 00 107.2 0 -1, 393, 600

65 E#Q 0.00 0 0
m3 9, 930. 00 215 2,134, 950 2,134,950

R B E i T B LA 0
2,330,513 2,330,513

66 {RELEMERR A E 0.00 0 0
= 1.00 2,330,513 2,330,513 2,330,513

IS4 RER 0
59, 200 59, 200

67 FIiHFAE BEM BERERY 0.00 0 0
t 5.00 2,639 13,195 13,195

68 IRIGFAE BIEA - FHE BEERY 0.00 0 0
t 5.00 9, 201 46, 005 46, 005
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% # A8 - kR B g fi & = w =

5 0
190, 000 190, 000

69 MAE CEEERM) 0.00 0 0
t 5.00 38,000 190, 000 190, 000

HBREE L) 0
1,091,198 1,091,198

HBREE 0
1,091,198 1,091,198

B EER 0
434,000 434,000

R 0
126, 000 126, 000

70 EIREAE 0.00 0 0
= 1.00 126, 000 126, 000 126, 000

E RS 0
308, 000 308, 000

71 EREES 0.00 0 0
= 1.00 308, 000 308, 000 308, 000

HSREREL 0
657,198 657,198

HSREREL 0
657,198 657,198

72 REENRER 0.00 0 0
= 1.00 657,198 657,198 657,198
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BIER FMFEERERBFBOEBREFRFHRMETEE2REEFEME)

4 [ R - BRTiE By B = B i oo ) =

EEISE 67,707, 766
64, 650, 926 -3, 056, 840

MEIEE 6,838,296 + 18,509, 787 25, 348, 083
7,683,958 + 17,747,424 25,431, 382 83,299

HBREE GDH 6,330, 676 + 507, 620 6,838, 296
1,091,198 + 6,103,047 + 489,713 7,683,958 845, 662

HERSEE (BL) 0
1,091,198 1,091,198

HBREE (R) 67,707,766 x 9.35% ((7.67% x1.00 +1.50% x 1.02) 6, 330, 676
64,650,926 x 9.44% ((7.75% x1.00 +1.50% x 1.02) 6,103,047 -227, 629

ReRnyEs 67,682,766 x 0.75% 507, 620
64,435,926 x 0.76% 489,713 -17,907

Regng 74,546,062 x 24.83% ((22.49% +1.62%) x 1.03) 18, 509, 787
72,026,884 x 24.64% ((22.56% +1.36%) x 1.03) 17,747, 424 -762, 363

TER 67,707,766 + 25,348,083 93, 055, 849
64,650,926 + 25,431,382 90, 082, 308 -2,973, 541

—REBEES 93,055,849 x 17.25% (17.25% x 1.00) — 5,056 16, 047, 077
89,774,308 x 17.33% (17.33% x 1.00) — 7,269 15, 550, 618 -496, 459

LRI E

92,685,134 x 0.04% 37,074

e ik 93,055,849 + 16,047,077 + 37,074 109, 140, 000
90,082, 308 + 15,550, 618 + 37,074 105, 670, 000 -3, 470, 000

HEREFHELE 109, 140,000 x 10.00% 10,914, 000
105, 670,000 x 10. 00% 10, 567, 000 -347,000

FRISH 109, 140,000 + 10, 914, 000 120, 054, 000
105, 670,000 + 10, 567, 000 116, 237, 000 -3,817,000
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H .
& KiE Tm3HyY
£ b g - BIRTE BT = B O # " =
73]
m3 1.000 256. 3 256. 3
& B 1E%HEH : 1.00m 3 256. 3 256. 3
&5 .2
&% BRL Tm3%Y
£ b g - BIRTE BT = B O # " =
HRL
m3 1.000 502.2 502. 2
& B 1E%HEH : 1.00m 3 502.2 502.2
5.3
£ BAD® 30~20mm  t=30cm Tm2 %y
£ b g - BIRTE BT = B O # " =
»ad 30~20mm t=30cm
m2 1.000 3,249 3, 249
= H YEEREN : 1.00m 2 3, 249 3,249
Hz5:4
£ BAQ 5~2.5mm  t=20cm Tm2 %y
£ b g - BIRTE BT = B Ol # " =
=rle) 5~2.5mm t=20cm
m2 1.000 2,215 2,215
= H YEEREN : 1.00m 2 2,215 2,215
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F5 .5
£ MEE G — ) HXHY (Im2)
2 b g - BIRTE BT H = B O %8 W = " =
BEb s — b
m2 1.00 1, 290. 00 1,290
& Hi 1E%HEH : 1.00m 2 1,290. 00 1,290
5.8
L Y — FEERD 1B4Y (Im2)
2 b g - BIRTE BT H = B O %8 W E " =
Ny IR (B A X5 RE) 1L1F%0. 8m3 (F350. 6m3)
B 0.03 71, 636. 00 2,149/6.30H / 8H
HEER
A 0.03 29, 720. 00 891
HIRIEXS
A 0.03 217,090. 00 812
LEEXS
A 0.09 19, 740. 00 1,776
MR ELNOY
% 5.00 5,628.00 281
& B 1E%HEH : 1.00m 2 5,909. 00 5,909
59
& BRI Oy VIEMD  1-AM2tSKEGZELR 1B%Y (914@)
2 b g - BIRTE BT H = B O %8 W E " =
STFL—29L—r A AR ER) GhE i I8 25t R
B 1.00 54, 100. 00 54,100 8H
STFL—29L—r A AR ER) GhE i I8 25t R
B 1.00 54, 100. 00 54,100 8H
cSwo 11t3&
B 6. 00 49, 288. 00 295,728 4.70H / 8H
U
A 2.00 26, 150. 00 52,300
LEEXS
A 4.00 19, 740. 00 78, 960
MR ELNOY
% 0.50 535, 188. 00 2,675
& B 1YEZHES - 91. 001& 5,910.00 537, 863
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&5 11
& RS — FERER 1H%Y (600m2)
2 b g - BIRTE By = B O ® # " =
REBLEY—
m2 660. 00 150. 00 99, 000
LEEXS
A 9.00 19, 740. 00 177, 660
MR 2E0%
% 0.50 2176, 660. 00 1,383
& B YEZERES : 600.00m 2 463. 00 278, 043
&S .56
£F5  BRRME - RE - BE 100m2& Y (100m 2)
2 b g - BIRTE By = B O ® # " =
HEER
A 3.50 29, 720. 00 104, 020
BhH<T
A 13.50 28, 460. 00 384,210
LEEXS
A 11.10 19, 740. 00 219,114
MR
% 15. 00 707, 344. 00 106, 101
& B YEZERES : 100.00m 2 8,134.00 813, 445
&5 .12
&% BEFfTba>4s J—+  18N-8-40BB  W/C=65% 10m3¥HyY
2 b g - BIRTE By = B Ol ® # " =
LT4—3HRbarvy)—+F 18N-8-40BB W/C=65%
m3 10. 30 19, 400. 00 199, 820
a9 1) — MTE (EEITEE) yL—rtkE
m3 10. 00 2,625.00 26, 250
STFL—29L—r A AR ER) GhE e I8 35tH
B 0.20 78, 500. 00 15,700 8H
& Hi YEZERESN - 10.00m 3 24,1717.00 241,770
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&5 .57
£ %5 . B LMERR Tm3HyY
2 b g - BIRTE By H = B # " =
Bi& L#iEk
m3 1.000 509. 4 509. 4
& Hi S .00m 3 509. 4 509.4
&= 19
&% . TREERD Tm3HyY
2 b g - BIRTE By H = B # " =
TREERD
m3 1.000 509. 4 509.4
& Hi 1E%HEH : 1.00m 3 509. 4 509. 4
= : 58
%5 fiEHEl Tm3%Y
2 b g - BIRTE By H = B # " =
iR Hl
m3 1.00 1, 091 1, 091
& B 1E%HEH : 1.00m 3 1, 091 1,091
&5 .59
Z AU Tm3HyY
2 b g - BIRTE By B = B # " =
BEAW-2)@
m3 1.000 238.6 238.6
& Hi 1E%HEH : 1.00m 3 238.6 238.6
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&S :60
&% . TREERO Tm3HyY
2 b g - BIRTE By = BHO(f ) # " =
TREERQ
m3 1.000 508. 3 508. 3
& Hi 1E%HEH : 1.00m 3 508. 3 508. 3
&S .26
&% BEG® RC-40 Tm2%y
2 b g - BIRTE By = BHO(f ) # " =
=316 RC-40
m2 1.000 1,638 1,638
= H YEEREN : 1.00m 2 1,638 1,638
&5 : 61
£F5 BRRME - RE - BE 100m2& Y (100m 2)
2 b g - BIRTE By = BHO(f ) # " =
HEEE
A 3.50 29, 720. 00 104, 020
BhH<T
A 13.50 28, 460. 00 384,210
LEEXS
A 11.10 19, 740. 00 219,114
MR
% 15. 00 707, 344. 00 106, 101
& B YEZERES : 100.00m 2 8,134.00 813, 445
&5 .27
& HiEE 1O 100m2%Y
2 b g - BIRTE By = BHoO(f ) # " =
HEEHTI (BEEER) t=10mm
m2 100. 00 2,523.00 252, 300
& Hi YEZERES : 100.00m 2 2,523.00 252, 300
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&5 :28
2% B (FESER) mEY (Im2)
2 b g - BIRTE By = B ) # " =
BEEBE (G355 1) #6. 0x150x%x150
m2 1.00 487.00 487
& Hi E%EEN : 1.00m 2 487.00 487
&5 :29
&% kipEa>H1)—+ 18N-8-40BB  W/C=65% 10m3%HY
2 b g - BIRTE By = B ) # " =
LT4—3HRbarvy)—+F 18N-8-40BB W/C=65%
m3 10. 30 19, 400. 00 199, 820
a9 1) — T (EETEE) AVEZ T
m3 10. 00 2,625.00 26, 250
ST7TL—r9L—2r HEHEARRER) ChEES IR 16tH
B 0.20 49, 400. 00 9, 880 8H
& Hi 1E%HESH - 10.00m 3 23, 595. 00 235, 950
&5 :30
&% BE® RC-40 Tm2%y
2 b g - BIRTE By = B ) # " =
=316 RC-40
m2 1.000 1,326 1,326
= H YEEREN : 1.00m 2 1,326 1,326
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&5 :34
& KB+ S5#HED 1084 Y
£ b g - BIRTE BT o = B O ® W = " =
HEER
A 0. 069 29, 720. 00 2,050
HIRIEXS
A 0. 069 217,090. 00 1,869
N ik EEr
B 0. 069 53, 700. 00 3,705
HHE (F50)
= 1.000 7,624.00 0
& Hi 1YEZHES - 10,00 762.00 7,624
5 M
%5 fiEHEl Tm3%Y
£ b g - BIRTE BT H = B O ® W E " =
iR Hl
m3 1.000 423.6 423. 6
& B 1E%HEH : 1.00m 3 423.6 423. 6
&S : 55
Z . THEERO m3 (Im3)
£ b g - BIRTE BT H = B O ® W E " =
TREEROG
m3 1.00 509. 4 509.4
& Hi 1E%HEH : 1.00m 3 509. 4 509.4
&5 :43
2% BERHL =bem Im3 %y
£ b g - BIRTE BT #H = B Ol ® W = " =
ERHL +5cm
m3 1.000 349. 4 349.4
& Hi 1E%8EH : 1.00m 3 349 4 349 4
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544
& MEE (ERIER) #A5~100ke/EREE (BAF) mEY (Im2)
2 b g - BIRTE BT = B ) W = " =
ey 5~100kg/{&@
m3 1.00 5,300. 00 5,300
& i 1E%HEH : 1.00m 2 5, 300. 00 5, 300
&S .45
& EBEHLDO kL  +20cm 100m2%HY
2 b g - BIRTE BT = B ) W E " =
Ny IR (B A X5 RE) 1LF50. 8m3 (FFFE0. 6m3)
B 1.10 74, 219.00 81,640/6.30H / 8H
LEEXS
A 14.00 19, 740. 00 276, 360
MR EXENOY
% 0.50 358, 000. 00 1,790
& B 1E%HEH : 100.00m 2 3,597.00 359, 790
&S .46
& EEHLO RELEHFSLS  +20cm 100m2%HY
2 b g - BIRTE BT = B ) W E " =
Ny IR (B A X5 RE) 1LF50. 8m3 (FFFE0. 6m3)
B 1.20 74, 219.00 89,062 6. 30H / 8H
LEEXS
A 15. 40 19, 740. 00 303, 996
MR EXENOY
% 0.50 393, 058. 00 1,965
& B 1E%HEH : 100.00m 2 3, 950. 00 395, 023
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&5 .47
L BEHLO Kih - Kkb#EFESL  +£20cm 100m2%HY
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